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plt.figure(figsize=(35, 5), dpi=T78)
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f.append(1)

f.append(1)

for i in range(2,n):
L=f[i - 2] + f[i - 1]
f.append(Ll)

for i in range(2,d + 1):
for k in range(2,n):

a="f[k] %i
b=f[k+1] %i
ifa=b=1:
break
X.append(i)

y.append (k)

plt.plot(x,y)
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7 f.append(1)

8 f.append(1)

9 for i in range(2,n + 2):

10 L=f[i-2]+f[i-1]
11 f.append(l)
1

13 for i in range(2 , d + 1):
14 for k in range(2,(n + 1)):
15 a="~T[k] %i

16 b=f[k+1] %i

17 ifa=hb=1:

18 break

19 if 1.99 ==Kk / i ==2.01:
20 print{i k)
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997 1996 2.002006

1013 2028 2.00197
1033 2068 2.00193
1063 2128 2.00188
1093 2188 2.00182
1115 2240 2.00896
1117 2236 2.00179
1123 2248 2.00178

1135 2280 2.00881
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44 30 30
45 40 120
46 48 48
47 32 32
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49 16 112
50 60 300
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